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AFEE 95 80 80 80 60
HEE 1 5 26 27 25 12
AO REREAS [ 18] FERE 11 5 26 27 25 12
(BEBER) B K 5 15 27 25 12
BEE 1.0 1.0 1.7 1.0 1.0 1.0
EEE 0 1 1 3 4 3
AO BREREAR [ OHA ] ZRE 0 1 1 2 4 3
(BaiER) aigE 0 1 1 2 4 3
T — 1.0 1.0 1.0 1.0 1.0
EEE 0 0 - 0 0 0
AO EEREAR [ &g ] FhHE 0 0 — 0 0 0
(REiER) BigE 0 0 — 0 0 0
HEE — — — — — —
HEE 9 2 56 26 17 7
HREZHAR FBE 9 2 56 26 17 7
(BEEER) aisE 6 1 36 26 17 6
BHEE 15 2.0 1.6 1.0 1.0 12
EEE 12 2 80 26 18 16
I BRE 12 2 74 26 18 16
FREBAS [ #18 ] ataE 5 1 60 20 9 1
e 24 2.0 12 13 2.0 15
EEE 4 3 50 10 12 8
. TEE 3 3 50 10 10 8
FREMAS [F ] B 1 1 31 10 6 6
BeE 3.0 3.0 1.6 1.0 1.7 13
HEE 4 2 8 6 7 5
e ZERE 4 2 8 5 6 5
FREBAR (%] e 3 5 < 2 3 3
BHEE 13 1.0 16 13 2.0 17
EEE 3 25 2 11 4 2
. . BRE 3 25 2 11 4 2
AR—YRAAR LM BlgE 3 25 0 11 4 2
s 1.0 1.0 - 1.0 1.0 1.0
EEE 3 14 — 2 0 0
. . TEE 3 14 — 2 0 0
AR=YEFRIAR I pven 3 ” — 5 0 o
HPEE 1.0 1.0 — 1.0 — —
EEE 1 3 - 0 1 0
. . =0E 1 3 - 0 1 0
AR—YERIA S IE aRE ] 3 — 0 ] o
BHEE 1.0 1.0 - - 1.0 -
EEE 6 9 54 9 23 30
e BhRE 6 9 54 9 21 26
—HARA BieE 5 3 24 9 11 12
BaE 12 3.0 23 1.0 1.9 22
EEE 4 2 32 1 5 10
. TEE 4 2 22 1 4 8
—BARB aiEE 3 2 7 1 1 5
BHEE 13 1.0 3.1 1.0 4.0 16
EEE 1 0 7 2 5 9
e BRE 1 0 5 1 5 8
—RARRRE el 0 0 1 0 1 8
BEE — - 50 - 5.0 1.0
EEE 0 0 1 0 0 2
_ . TEE 0 0 1 0 0 2
77EU-AR alE 0 0 ] 0 0 2
FEE — — 1.0 — — 1.0
EEE 0 0 0 0 0 0
U THE 0 0 0 0 0 0
HEAAR aikE 0 0 0 0 0 0
HRE — — — — — —
EEE 0 0 0 0 0 4
s BRE 0 0 0 0 0 4
REABRBAZBZEAR e o o o 0 0 4
BEE — — — — — 1.0
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